N of reco track vs pT [N of associated (recoToSim) tracks vs pT N of associated (recoToSim) duplicate tracks vs pT

0 F (%] F 0 F 1%}
x~ F X F X F 4
g . sl 8. o g I ]
=10° 5 10°F B £
(] Q Q
10* g
3
10°
10? E
o * " " E o
----- & apreeziey i B R g
. Tty LA - 1 & M‘H l i R
1frooom- - - o AR 1}.....-.-"--" | b .
10 1 10 1’ ? 10 1 10 1 N
track p_ (Ge\%) track p_ (Ge f)
A
[ == —BkE “E§RL
N of reco track vsd e a— —| E z E_ ] [I
1%} %] (%]
x X X
Q [} Q
g g g
(] & E
E K g
=
pm}
k=]
8
3
14
track n track n
N of associated (recoToSim) tracks vs phi |
9] %] [%]
S ] S
8 s g
o 2 I
E = 8
=
3
T
k) ko)
T T
4 4
1 =
0 L 0
-3 -2 -1 0 1 2 3 -3 -2 -1 1 2 3




	Contents
	Page 1


